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, X . STD - 201%@0%43@@3}%{50 | L00:Hr |
ONE MARK MATHEMATICS|
TEST NO : 1 S Rélatioﬁs and Functions, 2. Numbers and Sequencﬂ

1. Choose the correct answers from given alternatives : 50x1= 50

12. The sum oi the L Ahw PHririew A mwmoom o
e e\%@\‘/\ﬁ?’f‘?ﬁ‘l"nﬁsc com '
factorization of 1729 is ......... (®) 1 m) 2 (e) 3 {d) 4

13. Let ‘f’and ‘g be two functions given bY ...c..eee

=0, 1), (2, 0), 3, - 4), (4, 2), (8, Th 9= {lO. 2), (1, 0, (2, 4), |- 4, 2), (7, 0) then the

@ 02,548 B EaL62T G H 2,3,4,5 (@012

1. f( =0+ 1) - (x — 1)* represents a function which is ......... :
14. Using Euclid’s division lemma, if the cube of any positive integer is

(a) Linear (b) Cubie- (c) Reciprocal (d) Quadratic : bl &

y . . : divided by 9 then the ossible remainders are .........

2. 1If the sequence t;, T, Ty -.... are in A.P. then the sequence fg, to by oo v P

i a) 0,1,8 ! (k) 1,4,8 {e) 0,1,3 14y 1,3,85
) (e (a) = Geometric Progression (b) an Arithmetic Progression

15, If there are 1024 relations fromaset A= 1,2,3, 4,5} to a set B, then

(c) Neither an Arithmetic, Progression'nor a Geometric Progression
the number of elements in B is ..o @3 (B 2 4 (d) 8

(d) a constant sequence _
2. £ n(A x B =6and A= {1, 3) thenn (B) iS... a1 ®2 ©3 @6
IfA= 2“ _d D= 264 4 263 4 202+ 4 70 which of the following is

16. Euclid’s division lemma states that for positive integers ‘¢ and ‘b,
there exist unique integers q and ¢ such that a = bg + T, where ‘r
must satisfy ... (@) 1<r<b ) 0<r<b c) 0<r<hb () 0<r<b

tru = . o4 han A b) Aand B av al . . ; "
e’? {a) Bis 2% more than (b) Aan are equ o e i B is  bijective funct.on and if n(B) = 7, then nLA) is eque

(<) Bislirgu'thanAby 1 ' (d) % is largv thaa Bby 1
S Ifg {x. 1. (2. 3) 2 5 4, ,,1safunc1ong1vrnbyg\x)=ax+ p ‘henthe

L0 JPTUTNOR (®) 7 {b) 49 T 1 q) 14

13. 1f the HCF of 15 and 117 is 2XpI essibie in e forn} of 65 m.— 117, then

the walue of et fa) 4 ) 2 (3 1 4 3
R = {{x, %) (x5 apm: aumiber less than 13}

values of ¢. and p are ... @12 ® 2-1 (¢ - 1,-5) (@ 11,92
6. An A.P.consists of 31 terms. Ifits 165 term is ‘m?’, then the sum of all

19. ... ..
31 ,
the terms of this A.P. is .. ....ta) 16 m (b) 62m te) 3L:T1 @) 5 m )l o s 605710 @ W5 N N Y i |
7. A={a, b p) B= 2,3,C=pb.an sj then njAw )5 18 s | 20, The least \ o Nl 18 st sible by all <te mbers from 1 10
il B i i) 18 5172 © (both inclusive) is W) 2025 () 5220 (5025 (& 28
8. The ﬁrst term of an arithmetic progression 18 unity and the common o1 T 0 = 24 o gl \_, then fog 18 e
dlfference is 4. Which of the following will be a term of this A.P. ......- 3 . o 5 “ 9
= by T3 ' ) 5~ .
(a) 4551 (b) 10091 (c) 7881 ) 13531 | @ o7 ®) 5 o L &
9. Let f(xy=+1+x" then n9. Given F, = 1, F,=3 and Fn=Fn_1+Fn_2then Fyis oo
. X = A LIICAL ssseee ‘a‘} 11
f these (a) 3 L b) S _ c) €
(@) f o) = Fi= £y (B) fl 2 fa- fF e fla) < fla-fl) (d) mone © . A - i
10. 7% (mod 100) (a) 1 b) 2 ©3 @4 3. If the ordered pairs (a+ 2, 4) and (5, 2a + b) are equal then \&
. = arneaeesees (IOQ LURT) eememmnts ‘ . i ‘37 ) 2‘}
L B (1,23, 4), C- (5,6 and D=15,6,7,8) then sle ¥R omen BN BB T e
f the following statement is true : 04. 1 6 times of 6t term of an A.P. 18 equal to 7 times the 17 7
of the following statement 18 tTUE - e
) the 13% term of the AP.is oo @ 0 me @7 3 pTO

(a) (AxC)c(BxD) (b) (B)(_D)C(AXC) (c](.—le)c(,-'lx‘D) (d)(DxA)C(BxA)

Send Your Study Materials & Answer Keys to Our E-mail ID: Padasalaj


www.Padasalai.Net

27.

28.
29.

30.

31.

32.
a3.
34.

35.

36.

7

B
. Le = s
tA={(1,2,3,4andB={4,8,9, 10}. Afunction f:4 Bgiven by
f={1,4),(28).(39), 4 10}isa ..
(2) Many-one function (b) Identity function (c) One-to-one function (d) Into function
. In an A.P., the first term is 1 and the common difference 1s 4. How

many terms of the A.P. must be taken for their sum to be equal to

120 ? ......... (a) 6 m) 7 (c) 8 (d) 9
Let n (A) = m and n (B) = n then the total number of non-empty
relations that can be defined from A to B is .......... |

(a) m* (b) n= (c) 2= -1 (d) 2=

Thencxttennofthese ue L Ll
quence ep S

If {(a, 8), (6, b)} represents an identity functlon,
(a) (8, 6) - (b) (8, 8) (c) (6, 8) (4) (6, 6)

1 1 2 1
- ) oy ®) 37 ©7 @3
then the value of

‘7’ and ‘b’ are respectively ..........

-4 -
38. The common difference of an A.P. whose 4" term is 19 and 7% term is

®) 3 fc) 4 (d) 5 )

39. Iff(Q = +5, then f(-4) =
40. Ifa, b, ¢, I, m, nare in AP, then 3a+7, 3b+7,3¢c+7,31+7,3m+7,

@) 26 () 21 (o} 20 (-

3n+ 7 form ..........

(d) neither A.P. nor G.P.

(8 aGP. (b) anAP. (c) a constant sequence

41. 1 f = {6, 3). (8, 9), (5, 3), (- 1, 6}, then the pre-images of 3 are ......
(c) Band—1 {d) 6and5
4 3008 srvrmamanees

{d) 1025

(a) Sand-—1 (b) 6and8

492. When x = 2 the value of 1+x+x32+ ..

(a) 511 (b) 1023 {c) 513

43. If the range of a function is a singleton set, then it 18 wszevanoeses

b) an jdentity function

“The value of (1> + 23 + 3+ ...+ 15%) - (1+2-3+..+15)is e
(1) 14400 (k) 14207 (c) 14280 (d) 14520
5,7, 9} a[’ldf ‘A - Bbe g;lvvnl:y

I.etA {1,3,4,7, 11}, BR=¢(11,2

l ‘(a) @ bijezcive function

(a) = constant function
(d) an one-~ma function

44. Tue seguence - 3,-3,--3, L AS, fenflvie :
¢. only (b)a G.P. only (c) neither 27, ~rp G.P. (d) Dot AP, and G.F

f=11,-1), 3,2, 4 1) (7,3 ( [, )} Then “J7 18w & an
(s) one-one (P) onts fc) bijective (d) not a function, 45, .lfn (A= 20, n(E) = 30 ard n({UB)= 4, then AN B) is equa_l T, aicisunmeeess
The 8% term of the sequence L. . ONG, By o fes I8 oo e ‘ >, 50 (b 10 (©) 46 (d) 70
(a) 25 (b) 24 (o) 23 oy AL 46. The value of 3 + 6 +9 .. + 60 is equal t0 oo
: he value of ‘d
If {(7, 11), (5, a)} represents a constant function, then the v c il i 570 () 600 @) 630
d) 9 , ' i . _ o aa1al
18 e ol L . w Zif 10, th ln a, + ais equal 47. ff: A > Bisa bijective function and if n (4) = 5, then n (B) 1s equu
Ifa, 4, & a,, s, a6,a7aremA.P.an a, = 5 = l 0 ) 4 c) 5 @) 2%
to -T ......... (E’ 5 (b, 10 ‘c' 15 ‘d’ 20 ‘ O .ooveennnn (B) 1 (b‘. ok 3 i 5n - the i of the ﬁISt
6. 7, B =L, 2, 3, 4 5} and f: A > B is defined by 48. If the n™ term of an AP.1s. 4, = 3 e gt
IfA= {5 } . f ‘ . S i @) —[l 51 ®) n(l- 5n) © —2—(1 sy () 2\. )
(9 =x-2 then the range of "/ 18 - | s tion, then (% V) iS oo
! 1,4,5) ®) (1,2, 3,45 (e (2,3 9 () (3,4 5 49. 1f {(x 2, 4 Y} represents an identity function
(a) L, % ? ? . . . 2, 2) (@ & 4) 3
If the n'* term of a sequence is 100n + 10, then the sequUENCe 18 .- (a) @, T" ) (4,2) {e) ( f ; :
. : G 1S eerneeeeet i
- AP () aGP. ld® constant sequence  (d) neither A.P- nor G.P. 50, If2+4+6+ . + 9k = 90, then the value o g
a) an . i g ;
@ 11 k
aiven Pl & TP is a function from N to Z. Then the range of g ) 9 (c) 10 — |
, 1,_1’ (d) , ———-n——- ( v _{
s e @ W N Ly v e M L wes yallom b7827
I BRAv oAk :



www.Padasalai.Net

www.Padasalai.Net

Marks : 50

www.TrbTnpsc.com

"2

1.

[S]

10.

X -STD 2019 - 2020 L00:Hr | |11 The square root of 12124825 (I~ m)? is .........
: T (8) 1Lz |1- m| (b) L1xy|2* (1- m)| (c) 11242 |1~ m| (d) 11x°y|2* (1 - m)]|
ONE MARK MATHEMA ICS ¥ , ¥ -Tx+40 x*+7x+40
12 ——-= gives ...... B - Fro ey GoSIxtSKr il
" =25 x“+6x+5 (x=5)(x+5) (x=5)(x+5)(x+1)
TESTNO: 2 3. Algebra e -
| Xt =Tx+40 X2 410
I. Choose the correct answers from given alternatives : 50x1=50 @) 25+ 1) @ 25y
. , o U 3)[5 T o i ‘
Find the matrix X if ~‘\+5 117lo s ) 13. If ,4;{0 2]: (1 2) then the order of ‘A’ is ......
-2 -2 2 2 1 2 21
(a) [2 _1} (b) L _1] () [2 2} (d) L 2] (a) 2x1 (b) 2Xx2 (c) 1x2 (4 3x2
or 2 . .
The values of a and b if 4x* - 24X + 76x* + ax + b is a perfect square | 14 f [7] ﬂ [‘J = (4], then the values of )¢ and ‘y’ respectively, are ..........
N < Y
x;hfﬁa) f1;)10, 1.20 (b) blo,;i 1 («::i -f120, 11(;0 ‘ (d) 12, 1? Ei 2,0 il G i) 0:=2 @ 1,1
o o fhe 0 00ng can be caleuiated from fhe EVER MACES | 15, Which of the following shon!d be added to make x* - 64 a perfect
S ERIIEE (LI PR E (iti) AB (v) BA | SOUARE e o M o “ e
56 78 9] 16. Tic squareroct of 2+ P+ 2 -2xy+2yz Dzx ... .
(a) (i) and (ii) only (o) /ii) and /i) only (c) (i) ard (iv) only (d) ali of these fa) |x+u-2z, = (b) |x-y+z| (e) |x+y+u| (d) jx- y-z|
Graph of a liucar polynomial isa ... 17. 1he equation x* + 2x + jt= 0 and x*+ 4x - k = 1) L.ave & common root a.
(a) Straight line (b} Ci~cle (c} Parabola |d) Fiypr.rbola Then the vallieof K| i5 ...
il 10 R @ o b) -a ) 3a d -3
If A=(3 " ‘J, é’: (2) -“7' and C={_2 ;/l‘ which of the follcwing statements | (3, If b= o0+ ¢, then the equation ax® + bx+ ¢ =0 Las ... ..
are correct ? ...... ) \ (a) Real‘ roots (b) No roots (c) Equal roots {d) No real roots
0 1 ; -
55 se=l 2 3 25 8 20 19. If a and o? are roots of the equation x* — bx + 8 = 0 then the value of
) AB+C=[5 5] (i) B R W BA+C=(3 0} (iv) (AB)CZ( 8 BJ b i
; -4 10 , ) = 1S ..... (a) 2 ) (b) 4 (c) 6 (d) 8
(a) (i) and (ii) only . (b) (ii) and (iii) only  (c) (iii) and (iv) only (d) all of these | 20. The square root of 49 (3 - 2xy + #)? is ........
Ifa@+ bx+c=0 has equal roots, then ‘¢’ is equal ........... a} 7 |x-yl (b) 7 (x+y) (x-y) (e) 7 (x+yp? {d) 7(x-yP
@) ;’_ (b) 5 - () —— (d) -— 21. If x=1is a zero of the polynomial p(x) = x* - 2x% + 3x° - 4x+ A, then
4 2 4 ,
a S e g . the value of ‘A’ is ......... (@) 2 (b) -2 (c) 3 (d - 3
For the given matrix A=[3 4 6 8| the order of the matrix AT is ....... 22. If o and B are the roots of @ + bx + ¢ = 0, then one of the quadratic
9 1113 15 P |
fa) 2x3 (b) 3 x 2 (c) 3 x 4 (d) 4x 3 equations whose roots are (—; and L 18 sesmssens
3y-3 Ty-7, 9y 9y’ 2y’ ~42y+21 Ty -2y+1) (a) a@+bx+c=0 (b) bx®+ax+e=0(c) ex®+hbx+a=0{d) cd+ax+b=0
¥ ’ 3),1 18 Guas (a) 7 (b) 2ly-210) () 3),\ ) 3 | i
8§ 4 ' . 23. If - isa root of the equation 2x*-5x+7 =0, then the value of
If(.r s)‘*(; 2] then the value of X is....... @1 ®m 2 (o 7 @4 TR -5q 1S on... (a) 2 (b) — 2 {e) 5 (d) - 5
If number of columns and rows are not equal in a matrix then it is said | 24.

10 be @ ciiiiiines

(.a] Dia“gona.l matri (b} Rectangular matrix (c) Square matrix (d) Identity matrix

The sum of two zeros of the polynomial f(x) = 22 + (p + 3) x + 5 is zero.

then the value of ‘p’ is ......... {a) 3 (b) 4 e} -3 (@ -

T{
o

P"i‘? S
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28.
29.

30.

31.
R+ 4x+
32.

33.

34.
35.

36.

37

38.

39.
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, -3-

I (0, - 1) is the unique solution of the equations @ x+ by + ¢, = 0 and
b, ay ., b, b ¢
ax+by+c=0, then ... (a) -——5— lb)"‘_ () ‘b—“‘c_(d)—“:

. I o, B are the roots of @@ + bx + ¢= 0 a = 0, then the wrong statement

p s b -2 ¢ : b b* —dac
IS e, (@) @’ +p =22 paf== (eatf=— (da-f=
a’ a . a a
. Transpose of a column matrix is ..........
(a) Unit matrix  (b) Diagonal matrix (c) Column matrix (d) Row matrix

(k+4) x*+ 13x + 3k is reciprocal
b) 3 ()4 (S

If one zero of the polynomial p () =
of the other, then ‘K’ is equal to
If Aisa 2Xx3matrixand B isa 3 X 4 matrix, how mahy columns does
(a) 3 (b) 4 (c) 2 () 5

The common root of the equations x¥* - bx+c=0and x* + bx-a=0is

(a) 2

......... (= c;—ba (b) e ‘ {c) e (d) K

2b 2a 2c
The number of puints of intersection of the quacratic polynomial
with the X axisis (8 0 (B ! ) Gorl [d 2
4y =3, 3x- 1oy =24

(b) has no solution

The systemn of equatioas « -
(a)
(e)
If the rcots of the equatior. ¢ 22 + p?x + 12 = 0 are the ‘squeres of the roots
of the equation @@ + px+ =0 then q. p, m arein ... -

(a) A.P. (b) G.P. (c) Both AP and G.P (d) None of these

A quadratic equation whose one root is 3 is
() X*-6x-5=0 (b) 2+6x-5=0 () ¥-5x-6=0
The solution of (2x - 1)2=9 is equal to

has [nfinitely mary solutiors

has a uaique solution id) may or may not hav:: a s»lu’ion

(d) ¥-5x+6=0

(a) =1 b) 2 (¢) —1,2 (d) None of these

If a+p=14anda~ B =23, then af = ...........

(a) 42 (b) 44 (c) 46 (d) 48

The square root of % is equal to ......... .

(a) %‘J—‘ o 1o (e) %% () %1

If x1+xL:=23, x>0, then x+£ ‘is‘ ........ @2 (B3 ()4 (45

i L+ t
y +? is not equal to ...... (a) }ryl

1 1Y Y 4
-

40.

41,

42,

43.

44,
45,

46.

| a7,

(@) 1
48.

49. The roots of the equation (x + 3)? -

50.
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.

for which the roots

€8

The value of ‘a

X2 - 2x+a=0 satisfy the condition a -p =6 is
(a) 4 (b), — 4 (c) 8 (4) -8

A system of two linear equations in two variables is inconsistent, if
their graphs ..........

(c)

‘(a) Coincide (b) Intersect only at a point

Do not intersect at any point (d) - Cut the x-axis

9 4
f“*f:‘/— where x>0, y>0, then 3Wx-2\y

‘a) 5 (b) 1 (©) 2 (d) 0

If 2+ 5kx+ 16 =0 has no real roots, then ............

’ ! 8 8
(a) k>§ (b) A'>—§ (c) —§<k<-§ (d) 0<k<~

If (x - 6) is the HCF of »® - 2x 24 and x* - kx- 6 then the value of ‘K’

1S wivimiive {a) 3 (b) & (c) 6 : i

The number of zeros (real namkbers) of the- polynomial p(x) = »® + 1 is
‘a) O w1 e} 2 1) 3

The solution of the system x + y--3x=-6, -7y+7z=7, 3z=9is.......

() x=1,y=7%2-5 (’u)x=—1,_:,':’.‘.‘z‘=3

(e) x=-1y=-2,2=3 Co(€) xu1l,y=2,:2=3

The valae of ‘@ foi which the system ax— 6y = 12, 2x- 6y = 15 has

no solutions is

(b) 2 () 3 (d) 4

A system of three linear equations in three variables is inconsistent

if their planes
(a) Intersect only at a point (b) Intersect in a line

(d) Do not intersect

9 =0 are

(c) Coincides with each other

(0, - 6) (b) {-3,-6) (e) (0,-3) (d) (3, - 3)

(a)
If the system 6x -2y =3, kx -y =

(a)

2 has a unig ¢ solution, then

k=3 blkx3 (c) k=4 (d) k= 4

X - Std. Maths - O.)ML.T. -2
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ONE MARK

MATHEMATICS

TESTNO: 3

4. Geometry 5. Co-ordinate Geometry

I. Choose the correct answers from given alternatives : 50 x1=50
1. 'In figure if PR is tangenf to the circle at P and O is the centre of the
circle, then /POQ is .......... s
~ (a) 120° (b) 100° (c) 110° (d} 90° &%
2. Consider four straight lines ..,.......... A
) L;3y=4x+5 (W) [ ,4y—3x— 1 (i) L;4y+3x=7 (v) [ ;4x+3y=2
Which of the following statement is true ? ......... .
(a) L and L are perpendicular (b) L and I, are parallel
(¢) ' and L are perpendicular (d) L and L are parallel :
3. The perimeter of fwo cimilar triangles AABC and ADEF are 36 cm and'_ :
© 24 cm respectively. If DE = 12 &, then ABis ... ... ;
(@) 12en (b) 20 em (c) i5em (d) i8 em
4. Slope of the linc icining the points (3, - 2) ard (- 1, a) is - 5b then the
.value of ‘a 1sequal to .............. w1 k) 2. (3 (4 %
5.  In figure CP and CQ are tangents to ¢. circle with centre |
at O. AF'B is another tangent tcucliing the circle at X NS
If CP= 11 cm and BC = 7 cm, then the length ot BR B }BR
is oo (@) 6em (b) S5em () Bom  (d) 4em e
6. If A isapoint on the Y axis whose ordinate is 8 and Bis a point on the
X axis whose abscissae is 5 then the equation of the line AB s ....
(a) Bx+5y=40 (b) 8x—5y=40 (¢) x =8 (d) y=5 '
.7. In AABC, AB = 6 cm and AD is the angle bisector g_)f ,A. If
BD:DC=3:2,then AC=........ (a) 4 em (b) 6cm  (c) 3cm (d) Bem
8. The point (0::31 divides a line segment joining two points A and B |
internally in the ratio 2 : 1. If Ais*(2, - 3), then the point B T SRS
(&) (2,1) ®) (-2,-1) {e) (2,-1) (d) (-1,-2)
9. The two tangents from an external points P to a circle with centre at O
are PAand PB. If ,APB = 70° then the value of AOBis .........
(a) 100° (b) 110° (e) 120° (d) 130° ¢
10. The area of the triangle formed by the points (0, 0), 6’ J and ( 23]]

b) 2 (e) 3 (d) 4

11.

12.
13.
14.

15.,
-~ 1lm standmg on the same plane at a dlsta.nce of 12 mis ....,..

16.

21.

22,

23.

24.

25.

26.

17.

www. TrbTnpsc.com

-2-
The perimeter of two similar triangles are 24 cm and 18 cm
respectively. If one side of the first triangle is 8 cm, then the
corresponding side of the other triangle is
(a) 4cm (b) 3cm {¢c) 9em (d) 6cm
The slope of the line which is perpendicular to line joining the points
(0, 0) and (- 8, 8) is @ -1 B (e L @ -8
How many tangents can be drawn to the circle from an exterior
point ? (a) One {(b) Two (c) Infinite (d) Zero
If (1, 2), (4, 6), (x, 6) and (3, 2) are the vertices of a parallelogram taken
in order, then the value of X’ is () 6 ()2 ()1 (d) 3
The distance between the tops of two vertical poles of height 6 m and

{a) 7m ) 18m () 9m (d) 10m
The point of intersection of 3x-y=4 and x+y=38 is
(@ (5,3 ®) (2, 4) (¢) 3,5 (@ (4,4

A tangent is perpendicular 1o the radius at the

(a) 'Centrq (b) Point of coatact. (c) Intanity {d) Chord
=\ 1 34 L 3 5
The y-intercept of the line 5:0= 2y 1S ......... @3 @35 @0 (@ -3
. if AABC ~ APQR aud area (APQF) = 4 arex {AABC), then AB: PQis .....
(a) 2:1 . (b) 4:1 (e) 1:2 d) 1:4
- The roint of intersection of ths straight kirzs 9x - y-- 2 = 0 and
2x+ty-9=0ic..an @WELT BTG (g2 7; 4 1,-7

In the given figure, PR = 26 em, QR = 24 cm, »
,PAQ=90° PA=6cm and QA=8 cm. Find /POR ......
(a) 80° (b) 85° () 75° (d) 90° ; R Q
The straight line given by the equation x = 11 is
(a) Parallel to X axis (b) Parallel to Y axls

(c) Passing through the origin (d) Passing through the point (0, 11)

Triangles ABC and DEF are similar. If their areas are 100 cm’ and
49 cm? respectively and BCis 8.2 cm then EF =

........

{a) 5.47 cm (b) 5.74 cm (c) 6.47 cm (d) 6.74 cm
The angle of inclination of the straight line S5y = 5x + 1018 conaress
(a) 0° (b) 30° (c) 60° (d) 45°

Two poles of heights6 mand 11 m stand vertically on a plane ground.
If the distance between their feet is 12 m, what is the distance
between their tops ? ............ (8 13m (b) 14m (c) 15m (d} 12.83m
The area of triangle formed by the points (- 5, 0), (0, - 5) and (5, 0) is
(a) 0 sq.units  (b) 25 sq.units {c) 5 sq.units  (d) none of these [PTO
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30.

31.
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33.
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- In the figure, LM || NQ and LN || PO. Which oné of the following is
L

WUe 2 (e
(b) AQNP ~ AMNL
(d) ALMN ~ AQNP

Q

- When proving that a quadrilateral is a trapezium, it is necessary to

show ...........
(a) Two sides are parallel
(¢} Opposite sides are parallel

(b) Two parallel and two non-parallel sides '
(d) All sides are of equal length

In the adjacent figure ,BAC=90° and AD 1 BC f o

then ......... (a) BD.CD = BC? (b) AB.AC = BC?
(c) BD.CD=4D*  (d) AB.AC=AD? B D ¢
(2, 1) is the point of intersection of two lines ...........
(a) x-y-3=0; 3x-y-7=0 b) x+y=3; 3x+y=7
(¢) 3x+y=3; x+y=7 (d) x+3y-3=0; x-y-7=0

In a AABC. AD is the bisector of /BAC. If AB=8 cia, 3D =6 cm and
DC = 3 cm. The length of the side ACis ...........

(a) 6cm {b) 4 c1n 2! 3em 12, 2 em

A man walks near a wall, suck wat the distance Lat veen him zana the

wall is 10 units. Consider the wall to be tae Yaxis. The path wavelled

by the ‘nan is ..... .. (@) x =10 (b) y=10 (c) x=0 (d) y=0

If in AABC, DE || BC. AB:=3.6 cm, AC=2:4 em and AL = 2.1 cm then
the lenyth ofAEis ........ (8 1.4-m b) 18cm (c) 1.2 ecm (d) 105 cm
If (5,7), (3, p) and (6, 6) ure colliacar, then the valce of ¢’ is ......
(a) 3 ) 6 (c) 9 (4 12 _
The areas of two similar triangles are 16 cm? and 36 cm? respectively.

If the altitude of the first triangle is 3 cm, then the corresponding

altitude of the other triangle is-..........

(a) 6.5 cm (b) 6 cm (d) 4.5 cﬁ

The slope of the line joining (12, 3), (4, a) is 5. The value of ‘@’ is ...

(a) 1 ) 4 () -5 (d) 2

The perimeters of two similar triangles AABC and APQR are 36 cm |

and 24 cm respectively. If PQ = 10 cm, then the length of ABis .......
(=) 6% cm (b) % c (c) 65% em (d) 15em

The slope of a straight liﬁe parallel to the line 2x+ 4y +5=0is .......

1
(a) 2 ® -

3 ) -2

1O | =

(e) -

39.
40.

41.
42.
43.

44

45.
46.
47.

43, A stroight line has equation 8y == 4x + 21

49,

50.
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(a) 7x—3y+4=0

" (d) The slope is 5 and the y intercept is 2.6
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s Q
In a given figure ST || OR, PS = 2 cm and SO = 3 cm. ﬁ
Then the ratio of the area of APQR to the area of APST; St
1S emavin a) 25:4 (b) 25:7 (e) 25: 11 (d) 25:13

If slope of the line PQis 7'__ then the slope of the perpendicular bisector

3
@ 3

(d) 0

®) -3 (c) 71—3-
If ABC is an isosceles, right triangle, right angled at C, then .........
() AB?=24C? (b) AC*=24B? |(c) BC?=2CA? (d) AC?=2BC?

The equation of a straight line passing through the point (2,.— 7) and
parallel to x-axis is ........ () x=2 (b) x=-7 (c) y=-7 (d) y=2

If AABC is an isosceles triangle with ,C=90° and AC = 5 cm, then
AB s (a) 2.5 em ®) (c) 10 cm ) 52 em

The equation of a line passing through the origin and perpendicular
to the line 7x- 3y +4 =0 is ........

(b) 3x—Ty+4:=0 (c)3x+7y=0 (d 7x—3y=0

In ALMN, ALJ= 60° M = 50° H ALMN ~ APQR then the value of /R
(P W (a) 44° ®) 70° (o) 30° (&) 110°

'fa stiaight line y = 2x + k nasses throagh the point (1, 12), then the
value of ‘K isemalo ... a0 A4 ()5 (4 -3

Tixe sides of twe simiiar triangles are in the ratd 2 : 3, then their areas
(a) 9:¢ (b) “t: (c) 2:3 (€) 3:2
Which of the following is

5 cm

are in the ratio ...

(a) The slope is 0.5 and the y intercept is 2.6.
(b) The slope is 5 and the y intercept is 1.6
(c) The slope is 0.5 and the y intercept is 1.6

If in triangles ABC and EDF, “2=2C then they will be similar,
when ........
(a) £/B=/E  (b) LA= /D () £B= /D (G LA= /F

When proving that a quadrilateral is a parallelogram by using slopes

you must find .........

(a) The slopes of two sides '(b) The slopes of two pair of opposite sides

(c) ‘ The lengths of all sides . (d) Both the lengths and slopes of twe sides

X - Std. Maths - O.M.T. -3



www.Padasalai.Net

www.Padasalai.Net

Marks : 50 1.00 : Hr.

2019 - 2020

X .STD

ONE MARK

TESTNO:4
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6. Trigonometry

I. Choose the correct answers from given alternatives : 50 x1 =50
1. The value of sin*6+——— is etpaal 20w
1+tan” @
(a) tan?0 m 1 (c) cot?0 (d) 0
2. (1+tan2) (1 - sin @) (1 +Sin6) = ....co......
{a) cos?0 — 8in?0 (b) sin?0 — cos?0 (c) sin?0 + cos?0 (d) O
3. tan@cosec?d — tan 8 is equal to ...........
(a) seecb (b) cot?8 (c) sin B (d) cot 8
4, Otan?2 Q=202 = ... (a) 1 (b) O (c) 0 d -9
5. _If(sin x + cosec a) + (cos a + sec a)? = k + tan’a + cas’a, then the value
of ‘K’ isequal to ........ @ 9 )7 W) & @) 3
6. In the adjoining figure, AC= ...o...... 1\\
25 ‘ !
(a) 25 m {b) 253 m i F om (d) 251 12 L ;n:
: A 25m. F
7. Hsin€ +cosB=a and sec§ + coser B = b, thea (he value of Ba - 1)
is equal to ........ (a) 2a (b) 3a (c) O (d) 2ab
8. (cos®-1)(cot?20+ 1)+ 1=-...... (@ 1 (b) -1 ()2 (4 O
9. If 5x=sec6and i— = tan 0, then »* is equal to ..........
1
—_— d) 1
(a) 25 @ 5 () S { ).
s 3
10, Swores§ _ - . (9) 1 (b) 1-sinfcosO (c) sin@+cosd (d) tand
sind +cosé
13, -sin®1" & sinQ0 # .+ HP0% # i (a) 90 (b) 45 (c) 46 (d) 45.5
12. If sin & =cos @, then 2 tan?® + sin® - 1isequal to ..........
-3 RS 2 i ek
@ b) (€ 3 (,) 3
fissnie _ sind 14
13. g e {a) cot O (b) = (c)-tan € @ -,
14. sec B fi_ginig = ceerernr (a) cos @ (b) 1 (c) O (d) sec @

www. TrbTnpsc.com
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15. fx=a tan® and y= bsecH then..........
2 2 2 1 2 2 2 2
A . 3 Y o O A AP )
fa) 477 =t B gy L.t == S B s
sin60’ . B o ML e Bk s
16. 55300 (1#cos 60%) = ..o (1) B+3= () 5F7 (o Fry @ItE
17. 2 (sin260° + cos230°%) ~ (sin?45° + cos?45%) is ............
- (a) 3 b) 2 &) 1 (d) 0
2 £ ' __]_.\/'2_
18. ———22:‘::201 =y (a) sin 15°  (b) cos 15° © 2445 &) —
19. (tan® - sin®) (cot? — cos™) = .......
(a) 1 {(b) sin?0 cos*0 ) O (d) tan?¢ — cot?8
20. cosBJl+!an28§h1+9JT+cot’9 ETIITTTPITPIID
‘ﬂ) 2 (b) 1 (C) cosec 0 (d_' nee @
21. cos (90° - 8) cosec 0 + sin (90° - 6) sec 8 = ...... (@) 1 ™ 0 (o) 2 (df —1
29, tan (90° - 6) tan A + cot (C0° - @) cot B = ........
a) tan 45° (b) cosec 60° (c) sec o0 (d) eut 90°
25. sin2A cos?B — cos? A sin? Bis ........
ta) sia’d b sh’B (c) si?A - =i5°C (d sin’4 - cos?B
24, (tan 7') (tan 23°) /tan 60° (taa 67°) (tan 837) s ... ...
=70 wy o) 1 @ A
25. cos (90° — 8) cos 6 — sin (90Y - 6)-sin b = ..........
(a) sin 90° (b) cot 45° (¢) cosec 45° (d) cos 90°
26. If A+ B=90° then cos Asin B + sin Acos B is equal to ..........
(a) 2 (b) 1 (e) O (d) 45°
27. cosec?67° — tan?23% = ........... @ 0 (M1 (-1 (42
sin*é ) ' .
28, poer +sin fcos 6= ...... (a) 8in (b) cos © (c) tan § ({d) cot©
= l - . .
29, If the length of the shadow of a tower is 7—; times that of its height
then the angle of elevation of the sun I8 eennin
(a) 30° (b) 45° " o) 60° (d) 90°
l+sinf " .- cosd sind 1+sind 1-sing
——= d :
&0. cos@d T (al 1-sing 1+cosé | -sin® () 1+sind
e g
31. Lz Ml L (a) 1 (b) sec?d tan?0 (e) 2 (d) sin?f cos™®

secf+un’0 [PTO

’

Send Your Study Materials & Answer Keys to Our E-mail ID: Padasalai.Net@gmail.com


www.Padasalai.Net

- 33.

34.

35.

36.

37.

38.

39.

40.

41
42.

| {8
(a) 41.92m (b)43.92m ° (c) 43 m (d) 45.6 m
1+tan’ @ ' '
i, e B ey (a) cos?0 [(b) tan0 (c) sin?0 (d) cot?d
I+cot” @ : - g

. m ..... (a) sin 0 + cos O (b) sin 6 cos 0 (c) sin O - cos 8 (d) cosec D + cot 8
(1 +tan @ + sec 6) (1 + cot & - cosec 6) is equal to ........
(=) © (b) 1 {e) 2 d -1
“a cot & + b cosecd = pand b cot 6+ a cosec 8, = q then p? - q2 is equal
o..... (a) @-p (b) b3 - 2. (c) @@+ B (d) b-a
$in®20° + sin?70° - tan 450 ....... (a) () 0 (c) 2 (d) -1
Cc
In the adjoining figure ,ABC = ......... g
(a) 4s° (b) 30° {e) 60° (d) 50° %
A 100m B

www.Padasalai.Net
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If the ratio of the height of a tower and the length of its shadow is
V3:l, then the angle of elevation of the sun has measure

............

(a) 45° (b) 30° (c) 90° (d) &0
If a right triagle ABC, /B = 90°, sin A= end BC = 11, then
Al=,...... |

11 - - 4
(a) =~ ®) Vizo fe) &3 (d) Vi3
The electric 'ule subtcndq an an,le o ¢ 0° at a point on the sams level
as its foot. At a second pomt metres aktove tne first, the

deression of the font cf the tower 1s 6C° The height of the tower ’

b b
3 @3

{d) N
A man is 28.5 m away from a tower. His eye level above the ground
is 1.5 m. The angle of elevation of the tower from his eyes is 45°
Then the height of the tower is '

(a) {b) 27.5m

(in metres) is equal to

(d) 27 m

30 m (c) 28.5 m

i .2 S '
Snp-sin g - (c) tan O (d) cotB

cosf—cos' @
A tower is 60 m height. - Its shadow is ‘x’ metres shorter when the

sun’s altitude is 45° tHan when it has been 30° then % is equal

: [b) cot?0

----------

44,

45.

'46.

| 47.

48,

49.

50.
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The angle of depression of the top and bottom of 20 m tall building‘-

from the top of a multistoried building are 30° and 60° respectively.
The height of the multistoried building and the distance between two

buildings (in metres) is

(a) 20, 1043 (b) 30, 543 (c) 20,10
. 15
In the adjoining figure, sin = #=17. Then BC =
(a) 85m  (b) 65m (c) 95 m {d) 75 m
st Bt
I+tan“ @ :
{2) cosec?d + cot?®  (b) cosec?d - cot?® () cot?d - cosec’d (d) sin’) - cos?D

Two persons are standing ‘X metres apart from each other and the

height ci the firs® person is double that of the other. If from the

middle point of the lire joining their fee: an observer finds the

angalar elevations of their tops fo be complementary, then the height

i the sherter p:rsons (in metres) 1s . ... .

(@) |3 x b 57 © 7 @) 2x
(1 = cos®) (1 + cot?d) = ..........
fa) s_uiﬂe (b} 0 (e) 1 (d) tan?®
(1 + cot2d) (1 - cos8) (1 + COS 8] = vveerenes
(a) tanﬂé + sec?d (!;) sin®0 - cos®®  (c} sec™® - fan’B (d) cos?8 - sin’f

The angle of elevation of a cloud from a point ‘b’ metres above a lake
is ‘F. The angle of depression of its reflection in the lake is 45°. The

height of location of the cloud from the lake is

hil- :
(a) % ﬁq (c) htan (45°-B)  (d) nome of these

X - Std. Maths - OALT. -4
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TESTNO:5

Choose the correct answers from given alternatives :

50x1=50

1.

10.

’ —
e e ——

' 3
The total surface area of a solid right circular cylinder whose radius

- The range of the data 8, 8, 8, 8, 8, ...

The ratio of the volumes of a cylinder, a cone and a sphere, if each
has the same diameter and same height is
(a) 1:2:3 (b) 2:1:3 (e} 1:3:2 ) (d) 3:1:2

A purse contains 10 notes of ¥ 2000, 15 notes of T 500, and
25 notes of T 200. One note is drawn at random. What is the
prob{abﬂ.ity that the3note is either a 500 note or T 200 note ? '

= i 4
(a) 5 (b) 10 (d) 3

............

fe) 7

is th ol its height ‘f;,’ is equal to .............

(a) : Th sq.units (b) () 3 mh sq.urits
Which of the following is nst a measure of uispersion 7 . ... .

(d) Variance )
upits are ioined .

= 2 -
g?‘(h’ sq.units {d) ;11"*. =3 units

(a) Rangle (b) Staudard aeviatior. (e) Arithmetic niean

If two solid hemispheres of same base radius * r
together along their bases, then curved surface nrea of this new sclid
(a) 47r? sq.units ‘(11 6 7?squnity (¢! 3nr? sq.uaits (d) 8nr? s .uvits |

If a letter is chosen at randor: frcm the Englick alphabeis fa, b, ..., 2
then the probability that the letter chosen precedes ‘¢’

12 1 23 3
@ 33 ® ) 3¢ @ 3

Two right circular cones have equal radii. If their slant heights are in
the ratio 4 : 3, then their respectively curved surface areas are in the
(a) 16:9 (b) 8:6 c) 4:3 (d) 3:4

8 is
(a) O (b) 1 (c) 8 (d) 3

The volume (in cm?) of the greatest sphere that can be cut off from a

cylindrical log of wood of base radius 1 cm and height 5 cm is

4 10 20
(a) 3T (b) 37 (c) () 3T

Kamalam went to play a lucky draw contest. 135 tickets 01[ the lucky
draw were sold. If the probability of Kamalam winning is g then the
number of tickets bought by Kamalam is
' (b) 10 (c) 15

ratio

........

5t

(@) S

1

[a—

12,

13.

14.

185.

16,

18.

19.

20.
21.

22.
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‘ 2.
. If the surface area of a sphere is 36 n cm?,

sphere is equal to ........... b
(1) (b) 36 & cm?

then the volume of the

12 1t om?® lo}. 72 % cm?
.The sum of all deviations of the datafrom its mean is
(a) Always positive (e¢) Zero
The total surface area of a solid hemisphere whose radius is a units,

(d) 108 1 cm?

(b) Always negative (d) Non-zero integer

is equal to .............

(a) 2 na®sq.units (b) 3 na® sq.units  (c) 3 masqunits (d) 3 sq.units
The probability of getting a job for a person is % If the probability of
not getting the job is -i— then the value of ‘x’ is ........ T
(a) 2 (b) 1 (¢) 3 (d) 1.5 E

If the radius of the base of a right circular cylinder is halved keeping
the same height, then the ratio of the volume of the cylinder thus
obtained to the volume of original cylinder is ... ..... ]

(a) 1:2 (b) 1:4 (c) 1:6 (¢ 5.8

The mean of 100 observaticns is 40 and their standard deviation is
3. The sum of squares of all deviatizns is ..........

(a) 40065 (b, 160500 . (c) 150000 (d) 30000

. ¥ the tot~! surtace area « solid right circular cylincler is 200 n cm? and
1ts radius 1s 5 cin, then the sum. of its he ght anc. raclius is
(a) 20 ¢m (b} 25 cm (c) 30 em (d) 15 em

A rage is selected at randoin froin a beok. The probability that the

digit at units place of the page number chosen is less than 7 is .......
3 i 3 i 2
® % ® o ) o 4 3

A frustum of a right circular cone is of height 16 cm with radii of its

"ends as 8 cm and 20 cm. Then, the volume of the frustum | S
1 cm?®

(a) 3328 nem® (b) 3228 & em® (e) 32401 cm® (d) 33”
Variance of first 20 natural numbers is ....... ...
{a) 32.26 (b) 44.25 (c) 33.25 (d) 30
The total surface area of a solid hemisphere of diameter "m is equal
| o S (a) 12 cm? (b) 12 em?® () 4ncm? {(J) 31 em?
The probability a red marble selected at random from a j. * cuntaining
‘0’ red, ‘g blue and ‘ r’ green marbles is ...........
+ p+r

(=) p+z+r (k) p+Z+r ) piqir (d) p_:f-]+_f‘

[PTO
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35.

36.
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In a hollow cylinder, the sum of the external and internal radii is
14 cm and the width is 4 cm. If its height is 20 cm, the volume of the
material in it is ..............
(n) 5600 x cm® {b) 11200 1 cm? (c) 56 necm® {d) 3600 n cm®
The standard deviation of a data is 3. If each value is multiplied by
S then the new variance is (8 3 (b} 15 (o) 5 (d) 225
If the radius of the base of a cone is tripled and the height is doubled
then the volume is ..... |
(a)  made 6 times (b) made 18 times (c) made 12 times
Which of the following is incorrect ? "
(a) P4)>1 B) O<PA)<1 (c) P(H= (4) P(A)+P(A)=1
The curved surface area of a right circular cylinder whose radius is
‘@’ units and height is ‘b’ units, is equal to
() {b) 2'n absq.cm

A(d] ‘unchanged

...........

na’h sq.cm (e) 2 msq.cm (d) 2 sq.cm’

If the standard deviation of x, y, z is ‘p’ then the standard deviation |

of 3x+ 5, 8y+5, 32+ 5 48 sccresins

(a) 3p-o (b} 3p e) p+5 [d) 9p.+ 15
The totzi surface area of a hemi-sphere is how much times the square
of its radius .......... (a) = w 4n je] 3W (d) 2=

If the mean and co:fficier.c of variatior: of a datw are 4 anz 57.5 %
then the standard deviation is {a) 3.5 b) 3 (c) %o (d) 25
A shattlc cock used for plaving bacminton has the shape of the
comktination of .
{a) a cylinder and a spher:
(e} fruitum of a cons ind a hewispanere

The least value in a collection of data is 14. 1. The range of the
collection is 28.4. Then the greatest value of the collection is
(a) 42.5 (b) 43.5 (c) 42.4 {4 42.1

A solid sphere of radius X’ cm is melted and cast into a shape of solid
cone of same radius. The height of the cone is

") a hemisphere and a cone-

a aniere and a cone d)

..........

(a) 3xem (b) xcm (¢) 4 x cm (d) 2x em
If ¢ is an impossible event, then P (§) = .cooovrn

1 1
(=) 1 ® 7 {e) O a3

4
If the height and the base area of a right circular cone are 5 ¢m and

48 sqg.cm respectively, then the volume of the cone is equal to
(c} 80 cm®  (d) 480 cm’

(a) 240 cm?® (b) 120 cm®
The probablhtles of three mutually exclusive events A, B and C are
Then P(AUBUC) IS .cciiinne

11 7
= = d) 1
© 3 (@

gwerll bj‘{ 33 and .
= 3 LT
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The total surface area of a cylinder whose radius is+ L of its height is .
9’ 80’ ’ S6mn’

(a) X sq.units (b} 24 xh?sq.units (c) sq.units (d) - sq.units
For a collection of 11 items, Ix = 132, then the arithmetic mean is ..
(a) 11 (b) 12 (o) 14 (q) 13
The surface areas of two spheres are in the ratio of 9 : 25. Then their
volumes are in the ratio

() 81:625 . (b) 729:15625. (c) .27:78 (d) 27:125
Variance of the. first 11 natural numbers is ..........
) 5 ® 1o © 52 (4) 10

A spherical ball of radius r, units is melted to make 8 new identical.
balls each of radius r, umts Then r,:r, is ...

(a) 2:1 (b) 1:2 (c) 4:1 (d) 1:4

The probability that a student will score-centum in mathematics is %

The probability that he will not score centum is
I ’ 2. 3 4

= 3 ) 3 © 3 @

The height of a right circular cone whose radius is 5 cm and slant

height is 13 cm will be

(a) 12cm (b) 10 cm (¢) 13 cm (d) S cm
. For any collccuon of n items, () - 3% = s
{a) =x ®) (n-2)x (c) (ri=")x (d 0

If the radius of a sphere is half of the radius o another sphere, U

their respective voluraes are in the 7duo ....cooee

(a) 1:8 by 2.1 () 1:2 (d) 8:1

A feir die 1s thrown once:. “~he probability of ge itingy a prime or
comrosite numbzcr is . ... : ‘ :
(a) 1 m o © % @ 3

The height and radius of the cone of which the frustum is a part ar¢
h, units and r, units respectively. Height of the frustum is h2 unti
and radius of the smaller base is 1, units. If h, : b = nei
ryiTn s (a) 1:3 (b) 1:2 o) 2:1 |d]3:1
There are 6 defective items in a sample of 20 items. One item is
drawn at random. The probability that it is a non- defectwe item is .

1 3
L (b) O © 7o ld) 3
The curved surface area of a right circular cone of height 15 cm and

base diameter 16 cm is

(a) 60w em? (b) 68 & cm? (c) 120 cem? (d) 136 1 cm?
If the standard de\natxon of a set of data is 1.6, then the variance 1s ...
(a) 0.4 (b) 2.56 {c} 1.96 (d) 0.04
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.~ X - SAMACHEER - ONE MARK TEST - KEYS, 2019 - 2020
f MATHEMATICS
‘ Mathematics - One Mark Test No : 1
i
L 1. (d)  2.(b) 3. (c) 4. (d) 5.() 6.{) 7. (c) 8 (c) 9 (c}) 10.(a)
11. (@) 12.(c) 13.(d) 14. (a) 15.(b) 16. (c) 147. (a) 18. (b) 19. (c) 20. (d)
| 21. (c) 22.(d) 23.(d) 24.(a) 25 (c) 26.(c) 27. (c) 28. (b) 29. (a) 30. (c)
31. (@) 32. (d) 33.(b) 34.(d) 35 (d) 36. (a) 37. (c) 38. (b) 39. (b) 40. (b)
j 41. (d) 42. (b) 43. (a) 44. (d) 45.(b) 46. (d) 47.(c) 48. (a) 49. (a) 50. (b)
f Mathematics - One Mark Test No : 2
4‘ .
‘ I. 1. (b) 2 (c) 3. (b) 4. (a) 5. (a) 6. (b) 7. (d) 8. (a) 9. (d) 10. (b)
1. (d) 12.(c) 13. (c) 14. (a) 15.(b) 16. (d) 17. (a) 18. (a) 19. (c) 20. (d)
4 21. (a) 22. (c) 23 (b) 24 (c) 25 (€)  26. (c) 27.(d) "28. (a) .29. {(b) 30. (a)
! 31. (b) 32. (a) 33, (b)  34.(d) 35 (c) 36. (c) 37. (d) 38. (d) 39. (b) 40. (d)
41. (c) 42. (d) 43. (c) 44. (b) 45.(a) 46. (a) 47.(b) 48. (d) 49. (a) 50. (b)
\ _Nathem::tif:s - One Mark Test No - 3 : e
I 4. (@) 2. (c) 3. (€) 4. (d) 5. () 6. (@ 7. (2 8 (d) 8 (b) 10 (c)
1. (d) 12.(3) 13. (b) 14 (a) 15 (b) 1€. (¢) 7. (b) 18. (c) 1c. (¢ 20. (c)
21. (d) 22. b, 25 (bj 24.{d) 25 (@ 26. (b) 27.(3) 28 () 2¢ (2} 30 (k)
31. (b) 32. (a) 33. (a) 34.(c) 35 (d) 36. (d) 37.(a) 3IB. (c) 33. () 40. ()
41. (a) 42. (c) 43.(d) 44. (c) 45. (b) 46. (a) 47.(b) 48. (a) 49.(c) 50. (a)
Mathematics - One Mark Test No : 4
I. 1, (b) 2.(c) 3. (d) 4. (d) 5. (b) 6. (b) 7. (a) 8. (d) 9. (b) 10. (b)
11. (d) 12.(b) 13. (a) 14. (b) 15.(a) 16. {a) 17. (b) 18. (b) 19. (b) 20. (a) |
21. (b) 22. (c) 23. (c) 24.(d) 25 (d) 26 (b) 27. (b) 28. (c) 29. (c) 30. (a)
31. (a) 32. (b) 33.(c) 34 (b) 35 (b) 36. (c) 37. (d) 38. (c) 39. (b) 40. (a)
41. (d) 42. (b) 43. (b) 44.(d) 45.(d) 46 (b) 47.(b) 48. (c) 49. (c) 50. (a)
Mathematics - One Mark Test No : 5
L 1. (d 2.(d 3 (;:) 4.(c) 5 (@ 6() 7. () 8 (@ 9 (@ 10 ()
11. (b) 12. (¢}~ 13. (b) 14. (b) 15.(b)  16. (b) 7. (a) 18. (b) 19. (@) 20. (c)
21. (d) 22. (b) 23.(b) 24.(d) 25 (b) 26. (a)° 27. (b) 28.(b) 29. (c) 30. (a)
31. (d) 32. (a) 33.(c) 34.(c) 35 (c) 36. (d) 37. (c) 38. (b) 39. (d) 40. (b)
41. (@) 42. (a) 43. (@ 44 (¢) 45.(a) 46. (c) 47.(b) 48. (a) 49. (d) 50. (b)
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